

Writing an Equation in Slope-Intercept Form

Date _____ Period _____

Given the slope and y-intercept, write an equation in slope-intercept form.

1) Slope = -5, y-intercept = 3

$$y = mx + b$$

$$y = -5x + 3$$

2) Slope = $\frac{3}{2}$, y-intercept = -2

$$y = mx + b$$

$$y = \frac{3}{2}x - 2$$

Given a point and the slope, write an equation in slope-intercept form.

3) through: $(2, 4)$, slope = 1

$$y - y_1 = m(x - x_1)$$

$$y - 4 = 1(x - 2)$$

$$\begin{array}{r} y - 4 = x - 2 \\ +4 \quad +4 \\ \hline \end{array}$$

$$y = x + 2$$

4) through: $(4, 3)$, slope = $\frac{5}{4}$

$$y - y_1 = m(x - x_1)$$

$$y - 3 = \frac{5}{4}(x - 4)$$

$$\begin{array}{r} y - 3 = \frac{5}{4}x - 5 \\ +3 \quad +3 \\ \hline \end{array}$$

$$y = \frac{5}{4}x - 2$$

Write each of the equations in slope-intercept form.

5) $x + 8y = -16$

$$\begin{array}{r} x + 8y = -16 \\ -x \quad -x \\ \hline \end{array}$$

$$\begin{array}{r} 8y = -x - 16 \\ \frac{8y}{8} = \frac{-x}{8} - \frac{16}{8} \\ \hline \end{array}$$

$$y = -\frac{1}{8}x - 2$$

6) $x - y = -7$

$$\begin{array}{r} x - y = -7 \\ -x \quad -x \\ \hline \end{array}$$

$$\begin{array}{r} -y = -x - 7 \\ \frac{-y}{-1} = \frac{-x}{-1} - \frac{7}{-1} \\ \hline \end{array}$$

$$y = x + 7$$

$$7) y+2 = -\frac{3}{4}(x-3)$$

$$y+2 = -\frac{3}{4}x + \frac{9}{4}$$

$$\frac{-2}{-2} \quad \frac{-2}{-2} = \frac{8}{4}$$

$$y = -\frac{3}{4}x + \frac{1}{4}$$

$$8) y-5 = \frac{6}{5}x$$

$$\frac{+5}{+5} \quad \frac{+5}{+5}$$

$$y = \frac{6}{5}x + 5$$

$$9) -3x = 3 + y$$

$$-3x = 3 + y$$

$$\frac{-3}{-3} \quad \frac{-3}{-3}$$

$$-3x - 3 = y$$

or

$$y = -3x - 3$$

$$10) 2 = -y - 2x$$

$$2 = -y - 2x$$

$$\frac{+y}{+y} \quad \frac{+y}{+y}$$

$$y+2 = -2x$$

$$\frac{-2}{-2} \quad \frac{-2}{-2}$$

$$y = -2x - 2$$

Given two points, write an equation in slope-intercept form.

$$11) \text{ through: } (x_1, y_1) \text{ and } (x_2, y_2)$$

$$(-3, 0) \text{ and } (4, 1)$$

$$m = \frac{y_2 - y_1}{x_2 - x_1} = \frac{1 - 0}{4 - (-3)} = \frac{1}{7}$$

$$y - y_1 = m(x - x_1)$$

$$y - 0 = \frac{1}{7}(x - (-3))$$

$$y = \frac{1}{7}(x + 3)$$

$$y = \frac{1}{7}x + \frac{3}{7}$$

$$12) \text{ through: } (x_1, y_1) \text{ and } (x_2, y_2)$$

$$(0, 2) \text{ and } (3, 4)$$

$$m = \frac{4 - 2}{3 - 0} = \frac{2}{3}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{2}{3}(x - 0)$$

$$y - 2 = \frac{2}{3}x$$

$$\frac{+2}{+2} \quad \frac{+2}{+2}$$

$$y = \frac{2}{3}x + 2$$